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Part I Vocabulary 20% (EAEREERED)

(Fill in each blank with a proper term that best completes the sentence)

1. The law double-parking in this city.
A. flings B. prohibits C. erases D. facilitates
2. They have to their stay for another week in that city.
A. prolong B. formulate C. designate D. denote
3. There are differences between theory and practice.
A. legible B. laden C. radical D. medieval
4. The two friends had a encounter in the street.
A. random B. mortal C. metallic D. molten
5. The wages were often according to the number of hours worked.
A. paralyzed  B. overcharged C. reckoned D. peered
6. Please do not be by his bad manners since he is merely trying to attract attention.
A. disregarded  B. distorted C. irritated D. intervened
7. Too much to X-rays can cause skin burns, cancer or other damage to the body.
A. disclosure B. exhibition C. contact D. exposure
8. Itis well known that knowledge is the condition for expansion of mind.
A.incompatible  B. incredible C. indefinite D. indispensable
9. Some of the most important concepts in physics their success to these mathematic
systems.
A. oblige B. owe C. contribute D. attribute
10. Asvyour instructor advised, you ought to spend your time on something researching
into.

A. precious B. worth C. worthy D. valuable
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Part II Grammayr 20% (Fill in each blank with a proper term or phrase that best completes the
sentence) (AARNEEFFE)

11. By the time you arrive in London, we in Europe for two weeks.

A. shall stay B. have stayed C. will have stayed D. have been staying
12. | appreciated the opportunity ‘to study abroad two years ago.

A. having been given B. having given C. to have been given D. to have given

13. lJean Wagner's most enduring contribution to the study of Afro-American poetry is his insistence that it
in a religious, as well as worldly, frame of reference.

A. is to be analyzed B. has been analyzed C. be analyzed D. should have been analyzed
14. Asit turned out to be a small house party, we so formally.

A)needn’t dressup B) did not need have dressed up
C) did no need dress up D) needn’t have dressed up

15. Tapologizeif I ___ you, but [ assure you it was unintentional.

A) offend B) had offended
C) should have offended D) might have offended

16. Greater efforts to increase agricultural production must be made if food shortage avoided.
A) isto be B) can be C) will be D) has been

17. There are over 100 night schools in the city, making it possible for a professional to be re-educated no
matter he does.
A) how B) where C) what D) when

18. I've kept up a friendship with a gir]l whom I was at school ___ twenty years ago.
A) about B) since C) till D) with

19. He wasn’t asked to take on the chairmanship of the society, insufficiently popular with all

members.
A) being considered B) considering
C)to be considered D) having considered
20. for the timely investment from the general public, our company would not be so thriving as

itis
A) Had itnotbeen  B) Were it not C) Be it not D) Should it not be
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III. Cloze Test 20% (EAEREERED

Directions : For each numbered blank in the following passage, there are four choices marked A, B, C, and
D. Choose the best one and mark your answer on the ANSWER SHEET by blackening the corresponding
letter in the brackets .

The first and smallest unit that can be discussed in relation to language is the word. In speaking, the
choice of wordsis ___ 21 the utmost importance. Proper selection will eliminate one source of ___ 22
breakdown in the communication cycle. Too often, careless use of words __ 23___ ameeting of the minds
of the speaker and listener. The words used by the speaker may ___24___ unfavorable reactions in the
listener _ 25_interfere with his comprehension; hence, the transmission-reception system breaks down.

26___, inaccurate or indefinite words may make ___ 27 difficult for the listener to under- stand

the __ 28 which is being transmitted to him. The speaker who does not have specific words in his

working vocabulary maybe __ 29 toexplain or describeina__ 30 thatcan be understood by his
listeners.
21. A of B.at C. for D.on
22, A.inaccessible B. timely C. likely D. invalid
' 23. A. encourages B. prevents C. destroys D. offers
24, A. passout B. take away C. back up D. stir up
25. A.who B.as C. which D. what
26. A. Moreover B. However C. Preliminarily D. Unexpectedly
27. A that B.it C.so D. this
28. A, speech B. sense C. message D. meaning
29. A. obscure B. difficult C. impossible D. unable
30. A.case B. means C. method D. way

IV . Reading Comprehension 20% (Directions: There are five questions based on the below passage. For
each question, choose the only one answer that best corresponds to the question) (A ABNEZEREE)

As children get older, self-discipline should take the place of imposed discipline. Constrains become
internalized and children begin to weigh from within the validity of their promptings. But their tendency to
be self-critical, to develop a code of their own, depends on the extent to which they must have ‘kept critical
.company. The dialogue within reflects the dialogue without; that is why discussion is so important during
adolescence. Those in authority over children will, therefore, attempt to get children to do what is sensible
by appealing to their common sense instead of ordering them around or appealing to their own status. They

will not say, “I'm your father and I'm telling you not to smoke,” but will point out the dangers involved. Itis a
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further question, however, whether a child’s acceptance of good reasons should be the criterion for his action.

If a parent explains to a child why it is stupid and wrong to put objects on railway lines, and yet sees him doing
so, will he stand aside and reflect that the boy is learning to choose? Parents must weigh their own
fundamental principles against what is instructive for their children.

Example, of course, is crucial. Parents and others must provide a pattern out of which the child can
eventually develop his own style of self-regulation. This is not likely to happen unless exercise of authority is
rationalized and sensitively adapted to age, to persons, and to the tasks in hand, for the young will rightly
rebel against the irrational expression of a traditional status. In brief, teachers and parents must learn to be
in authority without being authoritarian.

31. When children get older, ;
A. they begin to consider everything carefully with their own standard

B. self-discipline becomes a conscious or unconscious part of themselves
C. they tend to rebel against senseless expression of authority
D. all of the above

32. The sentence “their tendency to be self-critical depends on the extent to which they must have kept
critical company” could be best interpreted as
A. the outside world can exert great influence on the development of children
B. children are willing to follow teacher’ s instruction
C. both teachers and parents should exercise authority
D. teachers and parents should have talks with children regularly

33. Which of the following is implied but not mentioned?
A. Discussion with children is important when they get older.
B. Parents and others should set examples for children to follow.
C. As children get older imposed discipline becomes a part of themselves.
D. When children are not older, they should be forced to accept some training which develops self-
control.

34. The author’s style of this passage can best be described as
A. ironic
B. formal
C. informal
D. reserved

35. The title below that best expresses the idea of this passage is
A. Self-discipline or Imposed Discipline
B. How to Educate Children
C. Authority Not Authoritarian
D. Example of Parents is Not Crucial to Children
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IV, Short Essay Writing 20% (R ABNEEEED)
Directions: Read carefully the below passage about a controversial issue--the legalization of same-sex
marriage in Taiwan. Then write a well-organized short essay of approximately 300 words in English as

your response to this passage. (Writing competency 40%, argumentation 30%, organization 30%)

In May 2019 Lawmakers in Taiwan had approved a bill legalizing same-sex marriage, a landmark
decision that makes the self-ruled island the first place in Asia to pass gay marriage legislation.

The vote came almost two years after the island's Constitutional Court ruled that the existing law —
which said marriage was between a man and a woman -- was unconstitutional. The panel of judges
gave the island's parliament two years to amend or enact new laws.

Then, only a week off the two-year deadline - lawmakers in Taiwan's Legislative Yuan passed a bill
making same-sex marriage a reality--“It will go into effect on May 24, 2019."




